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Answer any two of the following :
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(a)

®)

Fiscal policy affects the demand for loanable funds through
the government’s budget deficit. Suppose the deficit
increases. Does this cause an increase in output in the

classical model ? Explain.
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- Suppose worker preferences change in a way that makes

leisure more desirable relative to working. What would

happen to the supply curve to labour, real wage, output

and price level in the classical model ?
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4Show that in the IS-LM model for.a closed econom)-/,

crowding out resulting from a given increase in. go'vem-
ment expenditure is determined by the sensitivity of the
demand for money. to the rate of interest. | 4v5+4Ys
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~ Given the following description of the economy : '

In, - Iy = 4(utv - B%) : Phillips curve,

H? = I,

“Assume that unemployment in period ¢ — 1 is equal to

its natural rate and inflation is equal to 10%. From year
1, the central bank decides to maintain the unemployment
rate one percentage point above the natural rate until the
inflation rate declineg to 6%. What. is the inflation rate
foryeartandt+ 17 For how many years must thé central
bank keep the unemployment rate above the natural

level ? 1+1+2
Seferee &1 Ffafen e k= ™= ¥ .
I, - 1T = —(ut - 5%) - Phillips curve;

H? = II,
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Show how an oil shock in the form of a sudden steep
increase in' oil prices causes stagflation. 5
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' (@ Legacy of pést deficit is higher debt. To stabilize debt,
government must run a primary surplus écjual to the interest

payments on existing debt. Explain. 4
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(b) At time ty, the level of money supply increases from M,
to M,. Using AD-AS analysis, trace the short run and

medium run impact on prices, output and real money stock.

Is money neutral in the Medium run ? - 5
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Using the “Two sector” m(;del of Ecénomic Growth make
out a case for increasing the’ fraction of the total. labour
force in higher education. T ' 5
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- Explain the factors that determine the desired stock of

capital in the neoclassical theory of business fixed

investment.
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“The life cycle -hypothesis defines individual behaviour
as an attempt to smooth opt consumption patterns
over one’s life .time indepéndent Qf current income.”
Explain. _ 4
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) Describe how each of the following developments affect

the steady state capital stock in the Solow model with the

help of appropriate diagrams :
() An increase in the rate of technological progress

(i) A rise in the saving rate. 33
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“If the real sector responded immediately as financial

sectors do, there would be no exchange rate overshoot-
ing.” Explain. 5
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Why are Central Banks unable to conduct an i‘ndepende,nt

Monetary Policy under fixed exchange rates when there

is perfect capital mobility ?
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Briefly e).(plain the meaning of each of these terms :
()  Uncovered Interest Parity Condition

@i Covered Interest Parity Condition 2152
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b) | Explain the Extended Asset Market Model of the exchange
rate. Using this model discuss the effects of open market
sales of Government bonds by the Central Bank.” 5
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